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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(ii) 5% F¥7 & G YT B FHGR 0F GrY 5T FT |
Solve all parts of a question consecutively together-.
(iii) NeI% F¥7 F1 79 8 & A FHHT |
Start each question on fresh page.

(iv) Wwﬁ#wﬁ##@ﬁ#aﬁﬁwﬁm?;

Only English version is valid in case of difference in both the languages.

. (i) Torraf smea § variawor & ey ferfgu |
Write advantages of transposition in transmission line.
(i) I Feedr GERO F =y fafau |
Write advantages of high voltage transmission.
(iii) Tafe wohR & Frarer! & am fafaw |
Write names of different type of insulators.
(iv) WU YT Y FHIT |
Explain Ferranti effect.

(v) Toas gorreft & foas 1 gmzmeu |

Explain Distributor in Distribution system. (2x5)
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few wra = et 3 @ 3R Efal fafe |
Write advantages and disadvantages of DC Transmission system.

3-phase4wireAcmmﬁmmm%mﬁmiﬁﬁq1

Calculate volume of conductor material required in 3 phase 4 wire AC for
overhead system. : (6x2)

&} 2aTal 1 & 7 3! GURA & IUTH HHSTIT |

What is String efficiency ? Explain method of improving it.

e @ farega v § i gebreal & U Tere & T arel 3968 H deed 15 kV
2 |y fim @ ¥ % wea i arfian au s S Hi @Hiar g 1:8 8 | 7
THIAT TG HITAT |

An insulator string consists of three units and unit nearest to conductor having

voltage of 15 kV. The ratio of pin to earth capacitance and self-capacitance of
unit is 1:8. Determine string efficiency. (6x2)

TR TS § a1 U1 T 3 YW B o §U SN et oA 1 o wifud
#ifsT |

Derive an expression of sag calculation of transmission line taking the
consideration of air and ice effect.

300 Hiet feR 9t 3 wHae @ % ot g R | 9w & w96
#ifsr | afe =Te F WR 1977 kg/km, TH 9 GEA 18230 kg, GU&T T[T
2.5, =TT 1 AT 2.989 cm A1 <Ters T A 120 kg/em? R |

Find the sag of an overhead line having a span of 300 meter between level
supports. If weight of conductor is 1977 kg/km, ultimate strength is 18230 kg,
Safety factor is 2.5, diameter of conductor is 2.989 ¢cm and wind pressure on
conductor is 120 kg/cm?. (6x2)

yftrra et 6t G §EA1 S a0 HI |
Describe general construction of an underground cable.

¥l ) HHEYUAT T2 7 hael I FHHaydal i fpdl b faft %1 avia Hifsm |

What is grading of cable ? Discuss any one method of grading of cable. (6x2)



EE307

5. )
(ii)
7. @
(i)

(3 0of 4) 7017
e IR 1 @1 HA hi e ww farfty & avfa Hifdrg |
Discuss the Derrick Pole method of erection of line supports.

o faates & oy e wifaat forfea

Write the advantages and disadvantages of Ring main distributor. (6x2)

T R dieear % g & wfw o F fRafa § AC faawor e & fafy @
HHATRT |

Explain method of AC distribution calculation in situation when power factor
referred to receiving end voltage.

GV T84 1 Fawa a0 2 Aiftee 1 faft @ v fifng |

Explain nominal ‘T’ method of determining regulation of transmission line.  (6x2)

8. fTy=fefga g aférw feoqoft Hifem

Write short notes on the following :

(i)

(i)

LT &84 %1 §a

Survey of LT line
[CUECREIC]

Skin effect (6x2)
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